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Living Area Area Calculation
Warehouse 432965 f* Warehouse % 1.00 = 4329.69 ft7
Showroom/Office 21451772 O 80 4" x BI'T W x 1.00= 41452 fi*
Showroom/Office 1933.07 f* [J 4'x 41" 10" x .00 = 167.33 2
Storage 1020.03 2 [ 14'3 %" x T23% x 1.00= 17.16 fi2
Showroom/Office x 1.00 = 214517 5
Mechanicals w2100 &'x 2423 " x 1.00= 96.80 ft
| 9% x 143 %" x 1.00 = 40.04 £
O 25'x 804" x 1.00= 2008.33 fi#
Showroom/Office x 1.00 = 1983.07 ft}
Fx 12 x 1.00= 386t
[m| 29 %" x 143 %" x 1.00 = 397.54
] 4110 x 22x 1.00= 920.33 fi
242% " x 26'x 1.00= 629.20 fi*
Storage x 1.00 = 1020.03 ft3
Total Living Area (rounded): 9478 ft*|m 363U x 281 %" x 1.00 = 1020.03 2
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